010

HREREREREREEN

goooddooooooooooooooobobobbbbooooobbbbobbobn
ggbogobooboboooboobboobboooboobbuooboboooba



010 0000000

1.1 O0O0OoOOod

goboooboobboobboobooobooboboobbooboooboo
oobOo00oOo0oU0ooOoboboOoooOo 20000DOOO

ggd

od

32000

ugbobogoogoooon
TXT X XT (1.1)

0o0ob0obO 0 3100000000O00O0DOODOODO

a=x? (1.2)
goooooo
b=a*(=z%)
c=b*(= %)
d:CQ(:$16)
e = d*(= x%) (1.3)
JddoooOoOoOoo soobooo
ogooooo
ys = apxt + a1z + asx® + azx + ay (1.4)

0000000000000 0000000000000 1000000 2z*00
00 30000000boo0boo0bobf goObOoO0ODO0D4000000OO
o0ob0o0oo0 203040000000000 3020100000000000O

ooooooo
4+3+2+1=100 (1.5)

000000000000 400000000024 0000000000000
2?0 2°0000000000000000000000000000O000O0

4414+1+41=70 (1.6)

ggoo



1.1 000000 3

ggoogo

Y1 = apT + ay

Y2 = Y1Z + ag
Y3 = Y2& + as
Y4 = Y3T + ay (1.7)

goooooobobobobobbbbbbbbboo0oooooooogogoooo
ooobobobobobobo 1logoooU 1obobobobobobobo
04000000 400000000000O

gobo00oOo0o0ooOOo0ob0Oo0oU0DOoOo 20000bDO0O0bOO0O0ODOObODOO
googguooooooooobbbobobobbbbbbbbbbbbboobbbbbb
000o0O0o0o0o0b00obOO0ooDOo0o0o0ob0obO0oDOoooooOOobOooDOooooboDbOo 2
goboooboooboobboooboooboonboo



4 010 0000000

1.2 DO0OO0OOoOo

o0ob2000000000D0O0n0O00O

2

1 _
Yn = aox" + a1z +asx" 4+ -+ an_1T + ay

goboooboobooooboooo

Y1 = aoxr + ax

Y2 = Y12 + a2

Yn = Yn—1T + an

(1.8)

(1.9)

goooooooD y,ye,---,y, 0000 oooooooboooooooooooo

ggoooogo

Yo :a()D oo
i=1,2,---,n00000000000
Yi = Yi—1T + a;

gobogobuoooboobboooboooboobo

(1.10)

y, 00000000000 (1.10)0000000000000000000000OO

gobogobooboboooboooboobbooboooboobbooo

obooboooooooo20000

P —2-1=0

godddooooooag
1
r=1+ —
T

oooooooooooooooooad
1
T :14_7
1+1 T
0000000t zyo=10000000xg,21,22,--- 0000003

1,2,1.5,1.6667, 1.6250, 1.6154, 1.6190, 1.6176, - -

(1.11)

(1.12)

(1.13)

(1.14)



1.2 0000000 5

ggog
goobobboooobobboooobobobboooobobbooooobobooOoon
obobobobooooboooooobooooboo 2000o0OooOooOoo

1+5
9

= 1.6181--- (1.15)

000000000000 «000000000000000000 2,0000 240
000 0000000000

a:1+$ (1.16)
00000000000000000000 (1.13)0 20000 (1.11) 0000000
0000000000000000000000000000000000000000

gobooobooboboobbooboooboonoboonoobg

000 (1.1)0oooooUooooO0oO0oooooooooo (111) oo
r=vVzx+1 (1.17)

ggbooobooboboobooooboon

22 +1
_ 1.18
R R (1.18)

gobooooboobobooboooboobobooboboobboooboooboon
gobooobooooboon

Tiv+l1 = VT4 + 1 (119)
2
x; +1
i+l = 1.20
Titl = 5 (1.20)

00000000 2=100000000000000000 (1.19900

1,1.4142,1.5538,1.5981,1.6118,1.6161,1.6174, - - - (1.21)

00000 (1.20)00
1,2,1.6667,1.6190, 1.6180, - - - (1.22)

00000 (119 0000000000000000DO0ODO0O0ODOODO (12000000
2000000000000 0O00bODOoboDOooooDOooDOg



6 010 0000000

1.3 00O

goboooboobboobboobooobooboboobbooboooboo
oo0oO000 1goodob ooooOoUObOoOUObOOO 20000000 DOOUODOOO
ooobooobooboooboo 20000000bObO0bOO00oDOOobbObOoO0DOoOD
000bO0obO0ob0ooooooOoooo 16000 3200b00b0bO0UbOODUOODOODODOOD
oooboooooooooooooboboboboboobooooooooo o01DOoO
o0obOO00 oobooodboodboU0bOo0 20000000 OOObOObObOODOO
gooobooboobooobooooboooboobobobooboobDoobOooDbOoon
goboooboobobooboooboobboobboobboooboooboob
gogboogooboobboobboobooobooboboonoobg

gogbogobuoobboobbooboooboobboobboobooooboao
goboooobdoooboobboooboobobooboboobbooobooobooo
goboooboobobooboooboobboobboobboooboooboon
gobogobdooboboobooobooboboobboooboooboooboboon
gogbogoboobbooboooboobboobboogbooobuoobbogb
goboooobooboboobboooboobobooboboobboooboooboon
goboopoboobooooboon

gogbogobuooboboobbooboooboobboobobooobooooboo
oboboboboboboboboboboboobooboooboobooooooogon
0000b0o 200000Db00DOO

00 z(Va?+1-2)000
000000000000 0000 80000000000z =10*000000
000000000000000 0.49999999875--- 00000000000
0000 108+10000000000 80000 100000010°00000
0000000000000000000 200000000000000000
0000000000000000000O00O0O0O0O0

10*(1/108 4+ 1 — 10*) = 10*(v'108 — 10*) = 10*(10* — 10*) = 0 (1.23)

oooooooooooooooooobooboboooooooooboobob 100000
ooooooooooooon



1.3 00 7

ggd

ggbooobooboboobbgooboo

93(\/3327“7 x) :x(m_ ) (Va2 +1+ 1)

vViZ+1l+x
X
= 1.24
Viz+1+x ( )
0000 2x=10*000000000000000000O0O0O0O
10* 104
= = 0.50000000 (1.25)

VIO £1+104 1044104

00000000000000000000000

0000000000000 000000000000000000000000
000000000000 0000000000000000000000000
00D00000000000000000000108+1 = 10000.00005 000
00000000 00000000000000000000000000000
VIO +1-10*000000 0.00005000000000000000 2000
00000000 50000000000000000000000000000
0008000000000 20000000

0.12345687 — 0.12345678 (1.26)

goobob0ob0obO0obOobOob0obO0bOobOo 1O0bobOobobobooo
020000000000000000D0D0OD0ODLD0OD0ODODUODODbUODOD
gogbogobdoobbooboobboobbooboooboobboobo

o0boO0b0OoOoOooogo 20000

20000
ar? +bxr+c=0 (1.27)
goodoooooooo
—b+ b2 —4
z= > ac (1.28)
a

000000000KDO 4ec00000000000000O0000ODO
goboooobooooboon

Vb2 — 4dac ~ |b] (1.29)



010 0000000

gobodoooooogooooood+ o000 —ooogoodgooodon
goooboboboooobobobooooobobbooooobobobboooooboo
b>00000

—b— Vb? —4ac

gogboooboobbooobooboboobboobooobooboboobo
gogboooobogooboobbgooboo

C
—— 1.31
2182 = (1.31)

000000000000000b< 000000000 O0O0OCODODOOO

b4 VB2 4
g = 27 o ac (1.32)

goboooboobobooboooboobboobooooon

oooooobooboboooo2b00b0boooboobobooooobobooooo

010000

oooog 1020000

ooo
ooo
oon
ooo
oon
ooo
oon
ooo
oon
ooo
oon
ooo
oon
ooo
oono
ooo
oono
ooo
oono
ooo
oono
ooo
oono

goooooooooooooboooooooooooobooooooooooooooooobobog

Option Explicit
Private Sub CMD_Calculation_Click()

Dim A As Double
Dim B As Double
Dim C As Double
Dim D As Double
Dim X1 As Double
Dim X2 As Double
Dim MSG As String

A
B
C

Range ("_A")
Range ("_B")
Range ("_C")

Call Calculation(A, B, C, MSG, X1, X2)

Range ("_MSG") = MSG

Range ("_X1") X1

Range ("_X2") X2
End Sub
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000 Sub Calculation(A As Double, _

oo B As Double, _

ooo C As Double, _

ood ByRef MSG As String, _
ooo ByRef X1 As Double, _
ooo ByRef X2 As Double)
ood

goo Dim D As Double

ooog

ood If A = O# Then

ooo MSG = "OUDUOODODODOOoDODOoooooooo "
goo Exit Sub

ooo End If
ooo D=B*xB-4# x A xC
ooo If D < O Then

ood X1 = -B / (2# *x A)

ooog X2 = Sqr(-D) / (2# * A)

ood MSG = "OOOooooooon

god Elself D = O Then

ood X1 = -B / (2# x A)

good MSG = "OOoGQOoooo"

ood X2 =0

good Else

ood If (B < O#) Then

good X1 = (-B + Sqr(D)) / (2# * A)
ggo Else

good X1 = (-B - Sqr(D)) / (2# * A)
oo End If

good X2 =C/ (A x X1)

ood MSG = "DOoOoooooon

gog End If

ood

000 End Sub
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